GR2 U3 L10 S3
Coin Equivalency
Name: _____________________________________       Date: _______________
Draw (using p, n, d, or Q) the missing coins below to make the equations equal.

    d    +       d     +       d                    =             Q       +         

d      +      d       +      d      +       d           =      Q       +     Q        -       
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d      +     n         +    n           =           Q      -     
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d      +      d      +      n       +      n        =         Q      +      


Q      +    Q       +     Q        =              $ 1.00               -                 

d       +     n       +             +                 =21 cents
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